

OSCILLATION BEHAVIOR OF SOLUTIONS OF SECOND ORDER DELAY DIFFERENCE EQUATIONS

G.Sumitha

Department of Mathematics,
Kandaswami Kandar's College, Velur-638 182,
Namakkal(Dt), Tamilnadu, India.
E-Mail :sumisiva11992@gmail.com.

Abstract

This article, concerned with oscillation behavior of solutions of second order delay difference equations. We present new oscillation results by utilization the Riccati substitution technique and give an example to illustrate the main result.

Keywords: Second-order, oscillatory Solutions, delay difference equations.

INTRODUCTION

The second order difference equation have been the subject of investigations by many authors; See for examples [1-4,6,8-12]. In this paper, we will be concerned with a oscillatory behavior of solution of second order delay difference equations of the form.

$$\Delta (r_l \Delta(z_l)) + k_l g(z_{l-\tau}) = 0 \quad (1.1)$$

Where, $\{r_l\}$ and $\{k_l\}$ is an eventually positive real sequences; and g is sequence of reals and non-decreasing with $zgz \geq 0$; for $z \neq 0$

$$\text{and } \frac{g(z)}{z} \geq \mu; \quad \mu > 0 \quad (1.2)$$

$$\text{and } \lim_{z \rightarrow \infty} \frac{z}{g(z)} = N < \infty, \quad N > 0. \quad (1.3)$$

By a solution of Eq. (1.1), we mean a real sequence $\{z_l\}$ satisfies Eq. (1.1) for

$l \geq l_0$. we consider only those solution z_l of Eq. (1.1), which one nontrivial such a solution is said to be oscillatory if it has arbitrarily large zero and non oscillatory otherwise.

2. Preliminary Lemmas

In the following section, we present the auxiliary lemmas which help in validating the important of results.

Lemma 2.1:[5] Let $\gamma \geq 1$ be a ratio of two odd numbers $P, R, A, B \in \mathbb{R}$. Then

$$P^{\frac{\gamma+1}{\gamma}} - (P - R)^{\frac{\gamma+1}{\gamma}} \leq \frac{R^{\frac{1}{\gamma}}}{\gamma} [(1 + \gamma) P - R], \quad P, R \geq 0.$$

and

$$A_x - B_x^{\frac{\gamma+1}{\gamma}} \leq \frac{\gamma^\gamma}{(\gamma+1)^{\gamma+1}} \cdot \frac{A^{\gamma+1}}{B^\gamma}, \quad B > 0.$$

Lemma 2.2:[13] (Discrete Kneser Theorem). Let $\{z_l\}$ be defined for $l \geq l_0$, and $z_l > 0$ with $\Delta^m z_l$ of constant sign for $l \geq l_0$. And not

identically zero. Then, there exists an integer h , $0 \leq j \leq m$, with $(m+h)$ odd for $\Delta^m z_l \leq 0$ and $(m+h)$ even for $\Delta^m z_l \geq 0$ such that,

- $h \leq m-1$ implies $\llbracket (-1) \rrbracket^{h+g} \Delta^g z_l > 0$ for all $l \geq l_0$, $h \leq g \leq m-1$ and
- $h \geq 1$ implies $\Delta^g z_l > 0$, for all large $l \geq l_0$, $1 \leq g \leq h-1$.

Lemma 2.3: [13] Let $\{z_l\}$ be defined for $l \geq l_0$ and $z_l > 0$ with $\Delta^m z_l \leq 0$ for $l \geq l_0$ and not identically zero. Then there exists a large $l_1 \geq l_0$ such that

$$z_l \geq \frac{(l-l_1)^{m-1}}{(m-1)!} \Delta^{m-1} z_{2^{m-h-1}n}, \quad l \geq l_1.$$

Where l is defined as in lemma 2.2, further if $\{z_l\}$ is increasing, then.

$$z_l \geq \frac{1}{(m-1)!} \left(\frac{1}{2^{m-1}}\right)^{m-1} \Delta^{m-1} z_l \text{ for all } l \geq 2^{m-1} l_1$$

Lemma 2.4: [7] Let $\{z_l\}$ be an eventually Positive solution of Eq.(1.1). Then one of the following three cases holds for all sufficiently large l .

- (F1) : $z_l > 0, (r_l \Delta(z_l) > 0, \Delta(r_l \Delta(z_l)) \leq 0;$
 (F2) : $z_l > 0, (r_l \Delta(z_l) < 0, \Delta(r_l \Delta(z_l)) \leq 0;$
 (F3) : $z_l < 0, (r_l \Delta(z_l) > 0, \Delta(r_l \Delta(z_l)) \leq 0;$

Proof: The proof is similar to that of Lemma(2.1) of [7] and hence the details are omitted

3. Main Results.

In this segment, we will build up some wavering standards for Eq. (1.1)

For comfort, we signify

$$G_l = \sum_{s=l}^{\infty} \frac{1}{r_s}, \quad S_l = \mu K_l \frac{(1-\sigma)^2}{l^2},$$

$$Q_l = \rho_l \left[S_l + \frac{1}{r_l G_l^2} \right], \quad \Phi_l = \frac{\Delta \rho_l}{\rho_l} + \frac{2}{r_l G_l}.$$

and $\Delta \rho_l = \max\{0, \Delta \rho_l\}$

In what follows, all happening utilitarian imbalances are accepted to hold ultimately, that is, they are fulfilled for all sufficiently enormous, As regular and without loss of over simplification, we can manage at least certain arrangements of equation.

Theorem 3.1:

Let the Eq. (1.3) holds. If

$$\limsup_{S \rightarrow \infty} \sum_{s=l-\tau}^l G_s K_s > N \dots\dots(3.1)$$

Then every solution of Eq. (1.1) is oscillatory.

Proof:

Accept in actuality, that $\{z_l\}$ is a ultimately positive sequence, certain arrangement of Eq.(1.1). Eq. (3.1) suggests,

$$\sum_{s=l_0}^l G_s K_s < \infty.$$

There by z_l satisfies (F₂) of Lemma (2.4), which yields

$$0 \leq z_{l-\tau} + r_l \Delta z_{l-\tau} \leq z_{l-\tau} \quad (3.2)$$

Setting;

$$\delta_l = z_l + r_l \Delta z_l G_l. \quad (3.3)$$

We see that

$$\delta_l \leq z_l, g(\delta_{l-\tau}) \leq g(z_{l-\tau}).$$

A straightforward calculation guarantees that Eq. (1.1) can be changed into the structure.

$$\Delta(r_l \Delta z_l G_l + z_l) + G_l k_l g(z_{l-\tau}) = 0,$$

which talking into account Eq. (3.5) infers that δ_{l-1} is a positive dignify arrangement of first order delay difference inequality.

$$\Delta \delta_l + G_l k_l g(\delta_{l-\tau}) \leq 0$$

Summing from $l-\tau$ to $l-1$ we get

$$\begin{aligned} \delta_{l-\tau} &\geq \sum_{s=l-\tau}^{l-1} G_s k_s g(\delta_{l-\tau}) \frac{\delta_{l-\tau}}{g(\delta_{l-\tau})} \\ &\geq g(\delta_{l-\tau}) \sum_{s=l-\tau}^{l-1} G_s k_s. \end{aligned}$$

Thus we get,

$$\frac{\delta_{l-\tau}}{g(\delta_{l-\tau})} \geq \sum_{s=l-\tau}^{l-1} G_s k_s.$$

Hence ,

$$\limsup_{s \rightarrow \infty} \sum_{s=l-\tau}^l G_s K_s \leq \limsup_{s \rightarrow \infty} \left(\frac{\delta_{l-\tau}}{g(\delta_{l-\tau})} \right) \leq N.$$

but is a contradiction.

Theorem 3.2:

Assume $\Delta z_{l-1} < 0$, $(r_{l-1} \Delta z_{l-1}) < 0$. If there exists positive sequence

ρ such that

$$\sum_{s=l}^{\infty} \left(Q_s - \frac{\rho_s r_s \cdot (\phi_s)^2}{4} \right) = \infty \quad (3.6)$$

Then every solution of Eq. (1.1) is oscillatory.

Proof :

Assume that (F₂) holds , By lemma (2.3) , we find

$$z_l \geq \left(\frac{l}{2} \right) \Delta z_l \quad \frac{\Delta z_l}{z_l} \leq \frac{2}{l}$$

Summing from $l-\tau$ to $l-1$ we get ,

$$\sum_{s=l-\tau}^{l-1} \frac{\Delta z_l}{z_l} \leq \frac{2}{l} \frac{z_l}{z_{l-\tau}} \leq \frac{l^2}{(l-\tau)^2} \frac{z_{l-\tau}}{z_l} \geq \frac{(l-\tau)^2}{l^2} \quad (3.7)$$

It follows from $(r_{l-1} \Delta z_{l-1}) \leq 0$, we get

$$\Delta z_s \leq \left(\frac{r_l}{r_s} \right) \Delta z_l.$$

Summing from l to l_1 , we get

$$\begin{aligned} \sum_{s=l}^{l_1} \Delta z_s &\leq \sum_{s=l}^{l_1} \frac{r_l}{r_s} \Delta z_l \\ z_{l_1} &\leq z_l + r_l \Delta z_l \sum_{s=l}^{l_1} \frac{1}{r_s} \quad (3.8) \end{aligned}$$

Letting $l_1 \rightarrow \infty$, we obtain

$$z_l \geq G_l r_l \Delta z_l$$

Which implies that

$$\Delta \left(\frac{z_l}{G_l} \right) \geq 0.$$

Define the function χ_l by

$$\chi_l = \rho_l \left[\frac{r_l \Delta z_l}{z_l} + \frac{1}{G_l} \right] \quad (3.9)$$

Then

$$\chi_l > 0 \text{ for } l \geq l_1$$

$$\begin{aligned} \Delta \chi_l &= \Delta \rho_l \left[\frac{r_l \Delta z_l}{z_l} + \frac{1}{G_l} \right] + \rho_{l+1} \frac{\Delta(r_l \Delta z_l)}{z_l} \\ &\quad \Delta \rho_l \left[\frac{r_l \Delta z_l}{z_l} + \frac{1}{G_l} \right] + \rho_{l+1} \left[\frac{\Delta(r_l \Delta z_l)}{z_l} + \right. \\ &\quad \left. r_{l+1} \Delta z_{l+1} \Delta \left(\frac{1}{z_l} \right) \right] + \rho_{l+1} \left(\frac{1}{G_{l+1}} - \frac{1}{G_l} \right). \end{aligned} \quad \Delta \chi_l =$$

$$\begin{aligned} \Delta \chi_l &= \Delta \rho_l \left[\frac{r_l \Delta z_l}{z_l} + \frac{1}{G_l} \right] + \\ &\quad \rho_{l+1} \left[\frac{z_l \Delta(r_l \Delta z_l) - r_l \Delta z_l \Delta z_l}{z_l z_{l+1}} \right] + \rho_{l+1} \left(\frac{1}{G_{l+1}} - \frac{1}{G_l} \right). \end{aligned}$$

$$\Delta \chi_l = \Delta \rho_l \left[\frac{r_l \Delta z_l}{z_l} + \frac{1}{G_l} \right] + \rho_{l+1} \left[\frac{\Delta(r_l \Delta z_l)}{z_{l+1}} - \frac{r_l \Delta^2 z_l}{z_l z_{l+1}} \right] + \rho_{l+1} \left(\frac{\Delta G_l}{G_{l+1} G_l} \right)$$

Using Eq.(3.9) we obtain

$$\Delta \chi_l = \Delta \rho_l \left[\frac{r_l \Delta z_l}{z_l} + \frac{1}{G_l} \right] + \rho_{l+1} \frac{\Delta(r_l \Delta z_l)}{z_l} - \rho_{l+1} r_l \left[\frac{\chi_l}{r_l \rho_l} - \frac{1}{r_l G_l} \right]^2 + \frac{\rho_{l+1}}{G_{l+1} G_l} \left(\frac{1}{r_l} \right)$$

$$\Delta \chi_l = \frac{\Delta \rho_l}{\rho_l} \left[\rho_l \frac{r_l \Delta z_l}{z_l} + \frac{1}{G_l} \right] + \rho_{l+1} \frac{\Delta(r_l \Delta z_l)}{z_l} - \rho_{l+1} r_l \left[\frac{\chi_l}{r_l \rho_l} - \frac{1}{r_l G_l} \right]^2 + \frac{\rho_{l+1}}{G_{l+1} G_l} \left(\frac{1}{r_l} \right).$$

$$\Delta \chi_l = \frac{\Delta \rho_l}{\rho_l} \chi_l + \rho_{l+1} \frac{\Delta(r_l \Delta z_l)}{z_l} - \rho_{l+1} r_l \left[\frac{\chi_l}{r_l \rho_l} - \frac{1}{r_l G_l} \right]^2 + \frac{\rho_{l+1}}{G_{l+1} G_l} \left(\frac{1}{r_l} \right). \quad (3.10)$$

Using lemma (2.1) with

$$P = \frac{\chi_l}{r_l \rho_l}; R = \frac{1}{r_l G_l}; \vartheta = 1$$

We get

$$\left[\frac{\chi_l}{r_l \rho_l} - \frac{1}{r_l G_l} \right]^2 \geq \left(\frac{\chi_l}{\rho_l r_l} \right)^2 - \left(\frac{1}{r_l G_l} \right) \left[\frac{2 \chi_l}{\rho_l r_l} - \frac{1}{r_l G_l} \right] \quad (3.11)$$

From (3.10) and (3.11) we obtain ;

$$\Delta \chi_l \leq \frac{\Delta \rho_l}{\rho_l} \chi_l + \rho_{l+1} \frac{\Delta(r_l \Delta z_l)}{z_l} - \rho_{l+1} r_l \left[\left(\frac{\chi_l}{\rho_l r_l} \right)^2 - \left(\frac{1}{r_l G_l} \right) \left[\frac{2 \chi_l}{\rho_l r_l} - \frac{1}{r_l G_l} \right] \right]$$

$$\Delta \chi_l \leq \frac{\Delta \rho_l}{\rho_l} \chi_l + \rho_{l+1} \frac{\Delta(r_l \Delta z_l)}{z_l} - \rho_{l+1} r_l \left(\frac{\chi_l}{\rho_l r_l} \right)^2 + \rho_{l+1} r_l \left(\frac{1}{r_l G_l} \right) \left[\frac{2 \chi_l}{\rho_l r_l} - \frac{1}{r_l G_l} \right]$$

$$\Delta \chi_l \leq \frac{\Delta \rho_l}{\rho_l} \chi_l + \rho_{l+1} k_l \mu \frac{z_{l-1}}{z_l} - \rho_{l+1} r_l \left(\frac{\chi_l}{\rho_l r_l} \right)^2 + \rho_{l+1} r_l \left(\frac{1}{r_l G_l} \right) \left[\frac{2 \chi_l}{\rho_l r_l} - \frac{1}{r_l G_l} \right] \quad (3.12)$$

From Eq.(3.7) and Eq.(3.12)

$$\Delta \chi_l \leq \frac{\Delta \rho_l}{\rho_l} \chi_l + \rho_{l+1} k_n \mu \frac{(l-\tau)^2}{l^2} - \rho_{l+1} r_l \left(\frac{\chi_l}{\rho_l r_l} \right)^2 + \rho_{l+1} r_l \left(\frac{1}{r_l G_l} \right) \left[\frac{2 \chi_l}{\rho_l r_l} - \frac{1}{r_l G_l} \right]$$

$$\Delta \chi_l \leq \frac{\Delta \rho_l}{\rho_l} \chi_l + \rho_{l+1} s_n - \rho_{l+1} r_l \left(\frac{\chi_l}{\rho_l r_l} \right)^2 + \rho_{l+1} r_l \left(\frac{1}{r_l G_l} \right) \left[\frac{2 \chi_l}{\rho_l r_l} - \frac{1}{r_l G_l} \right]$$

This implies that

$$\Delta \chi_l \leq \left(\frac{\Delta \rho_l}{\rho_l} + \frac{2}{G_l r_l} \right) \chi_l - \left(\frac{1}{\rho_l r_l} \right) \chi_l^2 - \rho_{l+1} \left(s_n + \frac{1}{r_l G_l^2} \right).$$

Thus, by Eq.(3.10) yield

$$\Delta \chi_l \leq \phi_l \chi_l - \left(\frac{1}{\rho_l r_l} \right) \chi_l^2 - Q_l$$

$$\Delta \chi_l \leq -Q_l + \phi_l \chi_l - \left(\frac{1}{\rho_l r_l} \right) \chi_l^2$$

Applying the Lemma(2.1) With

$$A = \phi_l, B = \left(\frac{1}{\rho_l r_l} \right) \text{ and } x = \chi_l, \text{ we get}$$

$$\Delta \chi_l \leq \left(-Q_l + \frac{\rho_l r_l \phi_l^2}{4} \right) \quad (3.13)$$

Summing from 1 to l_1 we get

$$\sum_{l=1}^{l_1} \left(Q_l - \frac{\rho_l r_l \phi_l^2}{4} \right) \leq \chi_{l_1} - \chi_l \leq \chi_l$$

Which contradicts Eq.(3.6).The proof is complete.

Example 3.1: Consider the second order delay difference equation.

$$\Delta(l^2(\Delta_2 l)) + 2(2l^2 + 2l + 1)\tau_{l-3} = 0 \quad l \geq 4 \quad (3.14)$$

Here: $r_l = l^2$, $K_l = 2(2l^2 + 2l + 1)$ and $\tau = 3$

One can show that all the important conditions of Theorem(3.1) are satisfied .]

We have $G_l = \sum_{s=l}^{\infty} \frac{1}{s^2} < \infty$

Set $\mu = 1$

$$\lim_{l \rightarrow \infty} \sup \sum_{s=l}^{\infty} G_s K_s = \lim_{l \rightarrow \infty} \sup \sum_{s=l}^{\infty} \frac{2s^2 + 2s + 1}{s^2} < \infty.$$

Hence by Theorem (3.1),every solution of Eq.(3.1) is oscillatory

Example 3.2: Consider the second order delay difference equation.

$$\Delta(2(\Delta z_l)) + 16z_{l-1} = 0, \quad l \geq 2 \quad (3.15)$$

Here: $r_l = 2$, $K_l = 16$ and $\tau = 1$

One can show that all the important conditions of Theorem(3.1) are satisfied .

Set $\mu = 1$ and $\rho_l = 1$

we obtain

$$G_l = \sum_{l=2}^{\infty} \frac{1}{2} < \infty, \text{ and } \sum_{s=l}^{\infty} \left(Q_s - \frac{\rho_s r_s \phi_s^2}{4} \right) = \infty.$$

Hence by Theorem (3.2),every solution of Eq.(3.2) is oscillatory, one such solution is $z_l = \frac{(-1)^l}{2}$.

References:

- [1] R.P.Agarwal :Difference equations and Inequalities.2nd edition, Marcel Dekker,Newyork;2000.
- [2] R.P.Agarwal,M.Bohner, S.R.Grace and D.O.Regan,Discrete oscillation theory ,Hindawi publ. corp.,New york;2005.
- [3] R.P.Agarwal,M.M.S.Manuel and E.Thandapani,Oscillatory and nonoscillatory behavior of second order neutral delay difference equations, Mathl.Comput.Modelling 24 (1), 5-11(1996)
- [4] R.Arul and G.Ayyappan, Oscillation criteria for third order neutral difference equation with distributed delay, Malaya journal of Mathematik, 2(1),(2013),1-10.
- [5] Clemente cesarano,and Omar Bazighifan,Qualitive behavior of solutions of second order differential Equation,Symmetry 2019,11,777.
- [6] Devarajulu seghar,Ethiraju Thandapani,and Sandra pinelas-Oscillation theorems for second order difference equations with negative neutral term,Tamkang journal of Mathematics,Vol:46, (4),441-451,Dec 2015.
- [7] B.Kamaraj and R.Vasuki,Oscillation criteria of second order difference equation with negative nonlinear neutral term-IJMAA,vol:5,Issue 2-c (2017),411-419,ISSN:2347-1557.
- [8] S.Meharbanu and S.Nalini-oscillation of second order difference equation with several super-linear neutral terms,Advances in difference equations,(2018)2018:345.
- [9] Dr.P.Mohankumar, A.Ramesh,Oscillation theorems for a second order delay difference equation,IJRASET,Feb 2014,Vol:2,Issue 11,ISSN:2321-9653.



-
- [10] E.Thandapani,P.Sundaram and I.Gyori ,Oscillation of second order non linear neutral delay difference equations,J.Mathl.Phyl.sci.(to appear)
- [11] W.T.Li,Sui sun cheng,Oscillation criteria for a nonlinear difference equation.,Computers Math.Applic.Vol:36,No,8, PP.87-94-1998.
- [12] W.T.Li,Oscillation theorems for second order nonlinear difference equations,MCM 31(2000)71-79.
- [13] M.K.Yildiz,O.Ocalan,Oscillation results for Higher order nonlinear neutral delay difference equations.Applied Mathematics letters, 20(2007) 243-247.